TPC efficiency, BirBi, Gy, = 9.2 GeV, pim, 0-10% TPC effclency., B+, {5y = 9.2 GeV. plp, 0-10% TPC effcency, Bi+Bi, {5, = 9.2 GeV. km, 0-10% TPC effciency, B+, fi, = 9.2 GeV, k. 0-10% TPC effcency, Bi+Bi, {5y, =9.2 GeV, p, 0-10% TC effcency, Bi+Bi, {5y, =9.2 GeV, d, 0-10% TPC efficiency, Bi+Bi, {5 = 9.2 GeV. 1, 0-10% TPC effcency, BirBi, (5, = 9.2 GeV. Hed, 0-10% TP effciency, BivBi, (5, = 9.2 GeV. Hed, 0-10%

TP effcency, BivBl, (5, = 9.2 GeV. b, 1020% TP effciency, BivBl, (5, = 9.2 GeV. km, 1020% TPC effcency. Bi*Bi, fig, = 5.2 GeV. kp, 10-20% - BiYBI VB = 510 TPC effciency. B+, {5,
TPC effiency, BivBi, iy, TPC effciency, BivEl, (5, 9.2 GeV. pp, 20-30% TPC efficiency, BivEl, [y, = 9.2 GeV, km, 20-30% TPC effciency. Bi+E, {5, = 9.2 GeV, kp, 20-30% BB VB = 5, 20- TPC effciency. B, {5, = 9.2 GeV, d, 20-30% 3 3 ] - BH, 5= 9.2 GeV, He3, 20- TPC effcency. BivEi, {5, = 9.2 GeV, Hed, 20.30%
TPC efficincy, BivEl, [y, 9.2 GeV., km, 0-40% ) BB (B = ] y 8L VS, 3 TPC efficiency, BivBi, ey
TPC efficincy, BisBl [5y,= 9.2 GeV. pip, 40-80% TPC efficincy, BisBl [y, = 9.2 GeV. km, 40-80% B, [y 3 BB Vo= 5 TPC effciency, B, {5, = 8.2 GeV., d, 40-80% TPC efficiency, BvBi, (5= 9.2 GV, TPC effcency, Bi+Bi, fo, = 9.2 GeV, He3, 40.60%

'u:{ﬂ i

0




TOF effciency, B+, {5, = 9.2 GeV, pim, 0-10% TOF efiiency, Bi+Bi, {50, = 9.2 GeV, pp, 0-10% “ToF efiiency, Bi+8i, {5,

TOF effcency, BB, {5, = 9.2 GeV, km, 10-20%

o effciency, Bi+3, {5y, = 92 GeV, k. 20:30%

ToF efciency, 1o, Yo, = 92 Gov’ km, 30400

ToF effcency, B+, {5, = 9.2 GeV, ki, 40.80%

TOF effciency, B+, {5, = 8.2 GeV, kp, 0-10%

TOF efficiency, Bi+Bi, {5, = 9.2 GV, kp, 10-20%

TOF efficiency, Bi+Bi, {5, = 9.2 GV, kp, 20-30%

TOF efficiency, Bi+Bi, {5, = 9.2 GeV, kp, 30-40%

T sifcency, isB, ;= 5.2 GeV, kp, 40-60%

ToF effiiency, Bi+Bi, {5, =9.2 GeV, p, 0-10%

ToF effciency, B+, 5, = 9.2 GeV, d, 0-10%

TOF efficiency, Bi+BI, {5, = 9.2 GeV, d, 10-20%

TOF efficiency, Bi+BI, {5, = 9.2 GeV, , 20-30%

ToF efficiency, BivBi, fS,= 9.2 GEV, 4, 30-40%

TOF effciency, BivB, 5 = 9.2 GeV, , 0-10%

“TOF effcency, BB, {i, = 9.2 GeV, Hed, 0-10%

TOF effciency, BivBi, (i, = 9.2 GeV, Hed, 0-10%

ToF efficency, BivBi, {5, = 9.2 GeV, Hed, 20-30%




PID effciency, Bi+Bi, {5, = 9.2 GeV, pim, 0-10% PID effcency, Bi+Bi, {5, = 9.2 GeV. pip, 0-10% PID effciency, Bi+81, S PID effciency, Bi+Bi (5, = 9.2 GV, kp, 0-10% PID effcency, B+, {5, = 9.2 GV, p, 0-10% PID effciency, B+, {5, = 9.2 GeV, d, 0-10% PID efficiency, B+, (B, = 9.2 GeV. £, 0-10% PID effiiency, BvBi, [, = 9.2 GeV, Hes, 0-10% PID effiiency, B¢, [, = 9.2 GeV, Hed, 0-10%

| o

PID efficiency, i+, e, = 9.2 GeV, pim, 10-20% PID efficiency, ivBi, ey, = 9.2 GEV. pip, 10-20% PID effiiency, BivBi, (i, = 5.2 GeV, km, 10-20% PID eficiency, Bi+Bl, {5y, = 9.2 GeV, kp, 1020% PID effincy, 618,

|

PID eficiency, B+, {5, = 9.2 GeV, pm, 20-30% PID eficiency, B+, {5, = 9.2 GeV, pp, 20-30% PID effciency, B+, (5, = 9.2 GeV, km, 20-30% PID efficency, Bi+B, {50, = 9.2 GeV, p, 20-30% Y PID effciency, B+, {5,

|

PID effciency, B+, {5, = 9.2 GeV. pim, 30-40% PID eficiency, B+, {5, = 9.2 GV, pp, 30-40% PID effciency, B+, (5, = 9.2 GV, km, 30-40% Y PID efficiency, BivEi, (&, = 9.2 GV, Hed, 20-40%

PID eficiency, B+, {5, = 9.2 GV, pp, 40-80% PID efficiency, B+, {5, = 5.2 GeV, km, 40-80% PID efficiency, Bi+BI, {5, = 9.2 GeV, He3, 40.80% PID effciency, B+, {5, = 0.2 GoV. Hed, 40.80%.




DCA effiiency, B+, i, = 9.2 GeV, pim, 0-10% DCA eficency, BitBi. B, = 9.2 GeV, pip, 0-10%.

DA effciency, BB, {5, = 9.2 GeV, pm, 10-20%

DCA effcincy, B8, Vi, = 9.2 GeV, pip, 10-200%

DCA effcency, Bi¢Bi, {5, = 92 GeV, pm, 20-30%

DCA effciency, B+, Yoy, = 9.2 GeV, pip, 2

DA effcency, BivBl, {oy, = 9.2 GeV, pm, 30-40%

DCA effcincy, B+, {5, = 9.2 GeV, pip, 40-80%

DCA eficiency, BitBi, (B, = 9.2 GeV, km, 0-10%

- 1 0 1 2
y

DCA ffiency, BieBi, Vi, =82 GeV, ki, 10-20%

- 10 1 2 A
y

DCA efciency, BivB, Vo, = 9.2 GeV, km, 20-30%

- 1 0 1 2
y

OCh afcency. ie3L Yo, = 5.2 oV, km, 30405

- 1 0 1 2
y

'DCA effciency, Bi+Bl. (&, = 9.2 GaV, km, 40-80%

- 1 0 12
y

'DCA effciency, Bi+Bi, {5, = 9.2 GeV. kp. 0-10%

DCA effcency, i+, {5y,

DA eficiency, BHE, {5y, =

DA effciency, BB, {5y,

0

2GeV, kp, 10:20%

2GeV. kp, 20:30%

2o, kp, 40-80%

12
y

'DCA eficiency, Bi+Bi, {5, = 9.2 GeV. p, 0-10%

DCA effcency, Bi+Bi, V5., = 9.2 GeV. p, 10-20%

DCA efficiency, Bi+Bi, {5, = 9.2 GeV, p, 20-30%

DCA efcioncy, BvBi, Yo, = 8.2 GeV, . 30-40%

DCA eficioncy, BvBi, Yoy, = 8.2 GeV, . 40-80%

'DCA effciency, BI+B, {5, = 9.2 GeV, d, 0-10%.

DCA efficiency, Bi+Bi, {5, = 9.2 GeV, d, 20-30%

DCA effciency, Bi+Bi, {5y

DCA efciency, Bi+Bi, [fy, = 92 GeV, 1, 0-10%

'DCA effciency, BIvB, {5, = 9.2 GeV, L 10-20%

DCA effciency, Bi+B, {5,,= 9.2 GeV. £, 2030%

'DCA effciency, Bi+Bi, (£, = 9.2 GV, 1, 30-40%

'DCA effciency, Bi+Bi, {Sy, = 9.2 GeV, £, 40-80%

DCA effcency,BitBi, 5, = 9.2 G, Hed, 0-10%

DA efficiency, BivBi, (5, 9.2 GeV. Hed, 1020%

DCA effciency, e, (s, = 5.2 GV, Hed, 20-30

DA efficiency, BivBi, (5, 9.2 GeV, Hed, 30-40%

‘DA effciency, BivEi, (5, 9.2 GaV. Hed,

DCA effciency, BB, [5,,,= 9.2 GeV. Hed, 0-103%

i

'DCA effiiency, BivBi, (5, = 9.2 GeV. Hod, 20:30%




PID contaminaton, Bi+B, {5, =82 GeV, pim, 0-10% PID contaminaton, 6148, Vg, = 8.2 GV, . 0-10% PID contamination, 6+8, Vg = 8.2 GV, km, 0-10% PID contamination BB, {5y, = 9.2 GeV. p, 0-10% PID contamination, B+, i, = 9.2 GeV, 6, 0-10% PID contamination, BivBi, {5, = 9.2 GeV. t, 0-10% PID conaminaion, B8, 3, 8.2 GeV, He3, 0-10% PID conamination, B8, ;= 8.2 GeV. Hod, 010%

I\

PID contamination, 818, (i, PID contamination, Bi4B, 5, =92 GV, k, 1020% PID contaminaion, Bi*Bi, fi, = 9.2 GeV. 1, 10-20% PID contamination, BisB, Ry, = 9.2 GeV, He3, 1020% PID contamination, BieB, Ry =9:2 GeV. Hed, 10-20%

2 - o 1 2
y

PID conamintion, B85, = 8.2 GeV, km, 20.30% PID contaminaian, 6ivB, (5, 8.2 GeV, Hed, 2030% PID contamination, B8, {5y, = 8.2 eV, Hed, 20300

2 2 - o 1 2
y Yy

P conaminaion, BB Yo =52 6o 0 40% PIDcontaminaion, 551, frg = 5.2 G0V, 1 3040% P —— ey P s —— ey

i | D
2 1 0 12 -2 - o 1 2
y y

PID conamination, BivB, o, 5.2 GeV, pim, 40-80% PID contaminaion, isE, (g, 9.2 GeV, km, 40-80% PID contaminaton, Bi+Bi, 5, = 9.2 GeV, kp, 40.80% PID contaminaton, BivE, fo, = 9.2 GeV, 1, 40-80% PID contamination, BivE, (g, = 9.2 GeV, He3, 40-80% PID contamination, EivE, (e, = 9.2 GeV. Hed, 40-80%

1 2 2 2 - o 1 2
y Yy




b, conecton, BB, &, = 92 GeV, pm, cenvalty 010% » cotecion, BieB, {5, = 2 GeV. pp, canalty -10% P, crtecion BieB, 5= 2 Gev, km,canalty -10% P, corecton, BB, {5, = 9.2 GeV. kp,cenalty 0-10%, p, corecton,BitBi, {5y, = 0.2 G, p, cenvalty 0100 p, correcton, BitBi, {5, = 8.2 GV, d, cenvalt 0103 b, correcion, Bi+Bl, = 9.2 GV, ,centalty 0-10% P, conecion, B4BL, (5, = 5.2 GV, Hed,centalty -10% b, conecton, BB, i, =9.2 GV, Hed,centalty :10%

p, coecton, 6ieB. 5, p, comecton,Bi+B, (5, =02 GeV, | centally 10.20%

p, comection, Bi+B, 5, =02 GeV, | centally 20-30%

P, cotecton, BisB, 5, = 5.2 GoV, p, contally 30-40% p coecton, 4B, {5, =92 GV, . contalty 30-40%




5, 1< 0.5, BB, Vi, = 8.2 GeV, pim, cenalty 0-10% 50,105, BB, Yy, =9:2 eV, i, cenualty 0-10% 85, <05, BioB, (i = 9.2 GeV, ki, cenaly 0-10%. 55,1 <05, BB, 5= 9.2 GeV, kp, cenvaly 0-10% 5,,b1<05, BB, {5, =92 GeV, p, cenralty 0103 5,1 <05, BB, {5y, =02 GV, d, cenvalty 0100 50,1105, BiB, i, =92 GeV. , cenvally 0-10% 5,105, BB, i, = 5.2 eV, Hed, cenalty 0-10% 55,1105, BB, Vi =5:2 eV, Hed, cenalty 0-10%

25 3 35
b, Gevic

335
p,. Gevic

35, <05, BB, 5, =92 GeV.p,conaly 10.20%. 55, <05, B, (i, = 9.2 Gev. . cenalty 10-200

3 35 ! .} o ! 3 35
b, Gevic b, Gevic

55, 1< 0.5, v, iy, = 9.2 Gav. k. conialty 20-30% 55, <05, BB, (i, = 9.2 eV, canalty 20-305 55, <05, B3 i = 8.2 GV, He3, ity 20-0%

0 05 1 15 2 25 3 35
b, Gevic

5,105, BvBi 15,202 G 35,11 <05, BB, 5, =02 GoV.p. conalty 30405 55, <05, 88 i, = 0.2 GV, He3, ity 20-40%

-
05 1 15 2 25

3 35 0 3 35
p, Gevic p,. Gevic

p.centaiy 4005, 50,1 <05, BB, = 9.2 GeV. 0, conraty 4000, 35,.b1<05, B0, {5, =92 Gv, 1, convalty 40.80%

0 05 1 15 2 25 335
p,. Gevic




55, 1<05, BeBL, {5, = 5.2 v, pim, canalty 0-10%

Xund

35, <05, 808, &= 5.2 G, pm, contalty 10-20%

35
p,. Gevic

55, <05, 848 i = 0.2 GV, i, ity 40-80%

50,105, BB, Yy, =9:2 eV, i, cenualty 0-10%

5, 1<05, BvBL, [5,,= 9.2 Gov. p, conalty 10.20%

3 35
P, Gevic

P,y <05, BivBi, [5,= 9.2 Gov. b, conalty 20.30%

3 35
b, Gevic

5,y <05, BivBi, {5, 0.2 Gov. b, contally 30-40%

3 35
b, Gevic

5,y <05, BivBi, [5,= 0.2 Gov. i, convally 40.80%

85, <05, BioB, (i = 9.2 GeV, ki, cenaly 0-10%.

50, 1< 0.5, BB, (i, = 9.2 Gov. k. cenialty 10.20%

3 35
p,. Gevic

55, 1< 0.5, v, iy, = 9.2 Gav. k. conialty 20-30%

”.ﬂ“,'

5,105, BvBi {5, =02 Gov.,

3 35
b, Gevic

35,105, BivBi, V5= 5.2 Gov, k. convaly 40.80%

55,1 <05, BB, 5= 9.2 GeV, kp, cenvaly 0-10%

3 35
b, Gevic

50 1< 05, BB, ey = 9.2 GeV. . conialty 20.30%

3 35
p,, Gevic

50, 1< 05, BB, Yy = 9.2 GeV, . coniralty 0-40%

85, 1< 05, BB, fgy = 9.2 GeV, p,cenralty -10%

...kj#

5, <05, B, [y = 9.2 GeV. . cenalty 10-200

r. -

p Hovic

5,1 <05, BB, 5 = 0.2 GeV.p.contalty 2030

55,1 < 05, BB, 7y = 9.2 GaV. p.cntaty 204006

eotette, A

p.consay 40005

5,1 <05, BB, {5y, =02 GV, d, cenvalty 0100

55, <05, B, (i, = 9.2 Gev. . cenalty 10-200

p Hovic

55, <05, BB, (i, = 9.2 eV, canalty 20-305

55,1 <05, BB, fr = 921

35,1 <05, BB, =82 GeV. d, consaly 40805

50,1105, BiB, i, =92 GeV. , cenvally 0-10% 50, 1<0.5, BB, Vi, = 5.2 eV, Hed,cenalty 0-10%

4

25 3 35
b, Gevic

55, <05, 88 i, = 0.2 GV, He3, ity 20-40%

55,105, BB, {5, = 5.2 GV, Hed,conalty :10%

50, <05, BB Yoy,

3
b Bevie

55, <05, BB Y, = 8.2 GeV. Hed, cantlty 200

55,1y <05, o3 i, = 0.2 GV, Hot, contalty 30-40%

55,1y <05, BB Y= 0.2 GV, Hod, canilty 40-0%

35
P




Uncorrected, Bi+Bi, {5,y = 9.2 GeV, pim, 0-10%

Uncorrected, BivB, gy = 9.2 GeV. pim. 10-20%

Uncorrected, BieBl, oy, = 9.2 GeV. pim. 20-30%

Uncorrected, BIsBl, = 5.2 GeV. pim, 30-40%

Uncarrected, BI+B, {5, = 9.2 GeV, pim, 40-80%

Unconected, Bi+B, {5, = 9.2 GeV. pip, 0-10%

Uncortected, Bi+Bi, {5, = 9.2 GeV. pp, 30-40%

Uncorrected, Bi+Bi, {6, = 9.2 GeV, pip, 40-80%

Uncormected, Bi+Bi, {5, = 9.2 GeV, km, 0-10%

Uncorrected, BivBl, o, = 9.2 GeV, km, 30-40%

Uncorrected, BivBi, {6, = 9.2 GeV, km, 40-60%

Uncortected, Bi+Bi, {5,

.2 GeV, kp, 0-10%

Uncortected, Bi+Bi, 5, = 9.2 GeV. p, 0-10%

Uncortected, Bi+Bi, /5,0 = 9.2 GeV. d, 0-10%

Uncorrected, B+, {5, Uncorrected, Bi*Bi, (5, = 9.2 GeV, Hed, 0-10%

Uncorrecied, BB, &g, 9.2 GeV. He3, 20-30%

Uncorrected, Bi+Bi, fir

Uncorrecied, BitB. &g, 9.2 GeV. Hed, 10-20%

.T"r.

Uncortected, BB, [f,= 5.2 GeV, Hed, 30-40%

Uncorrected, BitBi, fi, = 9.2 GeV, Hed, 40-809%




Corrected, Bi+Bi, {5, = 9.2 GeV, pim, 0-10% V=92 GeV, pip, 0-10%

‘Cortected, BivBi, Sy, = 9.2 GeV, pim, 10-20% Cortected, BivB, (S, = 9.2 GEV, pip, 10-20%

y

‘Cortected, Bi+Bi, (S, = 9.2 GeV, pim, 30-40% Cortected, Bi+B, {5y, = 9.2 GeV, pip, 30-40%

‘Corrected, Bi+Bi, {5, = 9.2 GeV, pim, 40-80% Conected, Bi+Bi, {5, = 92 GeV, pip, 40-80%

y

Comected, Bi+Bi, {5, = 9.2 GeV, km, 0-10%

Comected, Bi+Bi, {5, = 9.2 GeV, kp, 0-10%

Corrected,

B, Vg, = 9.2 GV, kp, 40-80%

Comected, BB, {5y, = 9.2 GeV, p, 0-10% Cortected, Bi+Bi {5y, = 9.2 GeV. 4, 0-10% i, 5, = 0.2 GeV, £, 0-10%

Cortecied, BivBi, {5, = 9.2 GEV, 1, 10-20%

Cortected, BvBi, Yo, = 9.2 GEV, p, 20-50%

Cortecied, B, Yoy, = 0.2 GEV, L 20.30%

Corrected, BivBi, Yo, = 9.2 GEV, p, 2040%

Correcied, Bi*Bi, {5y, = 9.2 GEV, 1. 30-40%

Corrected. Bi+Bi, Yo, = 9.2 GEV, p, 40-80% Corrected, BivBi, Yy

Cortected, Bi+Bi, sy, = 9.2 GeV, Hed, 0-10%

‘Corrected, B+, [5,,= 9.2 GeV, Hed, 10-20%

‘Cortected, BV, (5, = 8.2 GeV, He3, 20-30%

Cortected, BV, 5y, = 9.2 GeV, Hed, 40-80%

Corrected, i+, 5y, = 9.2 GeV, Hed, 0-10%

Conected, B (5,

‘Cortected, BB, (5, = 8.2 GeV, Hed, 20-30%

Cortected, B4, 5y

2 GeV, Hed, 40-80%




